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[t REESA ouT IN | GROSS | HDCP | NET
16 B33 BE 41 42 83  19.0/ 64.0
20| /B —#t 40 39 79|  13.0 66.0
MI|fEE B 40 37 771 10.0 67.0
ARL A 3% 43 42 85/ 18.0/  67.0
AL | AR Bk 46 47 93| 25.0/ 68.0
64| AR R 42 42 84/ 14.0 70.0
Tz shd &= 40 42 82/ 12.0 70.0
86r|#H E  FIA 41 40 81 10.0 71.0
OfI HHE #F 40 44 84 13.0 71.0
1067 20 BUE 42 41 83 10.0 73.0
1z /hk EA 44 45 89 16.0 73.0
1201|BA  BiA 37 45 82 9.0/ 73.0
1367 RE A 50 46 96| 22.0/ 74.0
1461 Ef HE 46 42 88 14.0 74.0
156 A —E 39 43 82 8.0/ 74.0
16467 | Mk HF 38 42 80 6.0 74.0
1761 B4 #HE 49 48 97| 22.0/ 75.0
184 | ERE  #% 46 42 88/ 12.0/ 76.0
1962 11T {5th 44 44 88/ 12.0 76.0
204 | dbil i 42 46 88/ 12.0/ 76.0
PARTTAL:F I A 41 43 84 7.0 77.0
2201 | Fffp = 42 49 91 14.0, 77.0
2301 AR RiA 49 42 91| 13.0/ 78.0
2441 | ILA  F0E 45 44 89 11.0 78.0
50 | B#A —& 42 47 89 11.0 78.0
2641 8t WF— 49 46 95 16.0/ 79.0
2160 | \K  F— 46 46 92| 13.0/ 79.0
2861 EH = 45 45 90 9.0/ 81.0
2960 RA  Thik 46 43 89 7.0 820
304 | th¥t  IEEI 57 55 112 29.0/ 83.0
6L AT BsF 50 54 104/ 20.0/ 84.0
201 | IBA B 50 48 98| 12.0/ 86.0
330L | BEMR  EEAD 50 50 100, 14.0/ 86.0
M ER FE 50 54 104/  15.0/ 89.0
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